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Reading Test Example Questions
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AI-generated content may be incorrect.]90 + 7 = 97
180 + 14 = 194
270 + 21 = 291
360 + 28 = 388
450 + 35 = 485
540 + 42 = 582
630 + 49 = 679
720 + 56 = 776
810 + 63 = 873
900 + 70 = 970


10% of 650 = 65 (x2)
5% of 650 = 32.5
1% of 650 = 6.5 (x3)
0.262
182
60
1 x 40 = 40
½ x 40 = 20
Example Paper 1 (Arithmetic) Questions
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Because the difference between 1996 and 1999 is 3 years, not 4, so it isn’t always every four years.
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m Add a suffix to the words in the boxes to complete the sentences.

Our school believes in

We took

addition

for all pupils.

v

clothing in case it turned cold.

1 mark
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m Rewrite the underlined verb in the sentence below so it is in the
present progressive.

| tau?ht my sister to skateboard.

1 mark
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m Underline the subordinate clause in the sentence below.

Hassan and | are going to our dance class; we are going to be

late as we missed the bus. 1 mark
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Rewrite the two sentences below as one sentence using an
appropriate co-ordinating conjunction.
Remember to punctuate your answer correctly.

We have time to play a game. We will have to finish it before dinner.

1 mark
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G Circle the relative pronoun in the sentence below.

The boy who knocked on our door was at the wrong house. 1 mark
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Grannie

| stayed with her when | was six then went

To live elsewhere when | was eight years old.
For ages | remembered her faint scent

Of lavender, the way she’'d never scold

No matter what I'd done, and most of all

The way her smile seemed, somehow, to enfold
My whole world like a warm, protective shawl.

| knew that | was safe when she was near,
She was so tall, so wide, so large, she would
Stand mountainous between me and my fear,
Yet oh, so gentle, and she understood

Every hope and dream | ever had.

She praised me lavishly when | was good,
But never punished me when | was bad.

Years later war broke out and | became

A soldier and was wounded while in France.

Back home in hospital, still very lame,

| realised suddenly that circumstance

Had brought me close to that small town where she
Was living still. And so | seized the chance

To write and ask if she could visit me.

She came. And | still vividly recall

The shock that | received when she appeared
That dark cold day. Huge grannie was so small!
A tiny, frail, old lady. It was weird.

She hobbled through the ward to where | lay
And drew quite close and, hesitating, peered.
And then she smiled: and love lit up the day.
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( Questions 16-29 are about Grannie (page 6) )

Find and copy one word from the first verse that shows that the poet’s
grannie made him feel safe when he was a boy.

1 mark

How did the poet’s grannie react when he behaved badly?

1 mark

m The poet describes his grannie as standing mountainous between me and
my fear. This makes her sound big and powerful.

What other impressions do you get of his grannie in the same verse?

Give two impressions.

2 marks
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m She hobbled through the ward to where | lay
And drew quite close and, hesitating, peered.

Why does she hesitate?

1 mark
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Number the following sentences from 1-5 to show the order in which they
happen in the poem.

The first one has been done for you.

The poet arrives in France.

The poet lives with his grannie. 1

The poet is injured.

The poet’s grannie visits him.

The poet writes to his grannie.
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2018 Spelling script

Spelling 1: The word is thumb.
Mum hit her thumb with the hammer.

The word is thumb.

Spelling 2: The word is trouble.
The boy had trouble keeping up with his elder sister.

The word is trouble.

Spelling 3: The word is mixture.
Add eggs to your cake mixture.

The word is mixture.

Spelling 4: The word is portable.
The new laptop is light and portable.
The word is portable.

Spelling 5: The word is dough.
We put the bread dough in the oven.
The word is dough.
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33

1 mark

34

28% of 650 =

1 mark
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26

6-5.738 =

1 mark
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36

Show

your
method

2 marks
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o Write the three missing digits to make this addition correct.

2 marks
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( Spelling task J

Mum hit her

The boy had

Add eggs to your cake

with the hammer.

keeping up with his elder sister.

The new laptop is light and

We put the bread

in the oven.
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Here is a shape on a grid.

Complete the design so that it is symmetrical about the mirror line.

Use aruler.

mirror line
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A farmer is packing eggs.

Each box holds six eggs.

The farmer has 980 eggs to pack.

How many boxes can the farmer fill using 980 eggs?

full boxes
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Here are the temperatures in four cities at midnight and at midday.

Temperature
City At midnight At midday
Paris -4°C -2°C
Oslo -13°C -7°C
Rome 3°C 10°C
Warsaw -6°C 2°C

At midnight, how many degrees colder was Paris than Rome?

Which city was 6 degrees colder at midnight than at midday?

degrees

1 mark

1 mark
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The list below shows the years in which the Cricket World Cup
was held since 1992:

1992, 1996, 1999, 2003, 2007, 2011, 2015

Adam says,

The Cricket World Cup
has been held every four
years since 1992.

Adam is not correct.

Explain how you know.

1 mark
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n Insert a comma in the correct place in the sentence below.

Although he was the youngest Tom was one of the tallest. 1 mark




